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Question Number : 41 Question Id : 750782388

Give synonym of the following word.

‘Poor’
Options :

. Scarce

Destitute

2

Snooty

. Stout

Question Number : 42 Question Id : 750782389

Which one of the following words is opposite in meaning of the word “Meager” ?
Options :

 Implicit

, Stagnation

, Despair

N Plentiful

Question Number : 43 Question Id : 750782390

He hung about the entrance all day, hoping a chance to speak to the director.
Identify the correct meaning of underlined phrase in the above sentence.

Options :



. Retain

, Show unwillingness to act

) Loiter

) Surrender

Question Number : 44 Question Id : 750782391

A state in which somebody worries all the time about his/her health is called
Options :

lipXenophobia

, Claustrophobia

, Hypochondria

, Hydrophobia
Question Number : 45 Question Id : 750782392

Identify the type of phrase underlined in the given sentence.
“The man is searching for a shelter”.

Options :
. An adverbial phrase
, Noun phrase

. Adjective phrase

| Both (1) and (2)

4

Question Number : 46 Question Id : 750782393

Xenophobia can be understood as



Options :

| Fear of closed spaces

5 A strong dislike of other people

Fear of women
3.

, Fear of one’s relatives

Question Number : 47 Question Id : 750782394

Read the given sentences carefully and identify the sentence in which gerund is used

a. Waiting at the transit lounge is boring.

b. It 1s boring to wait at the transit lounge.
Options :

. Gerund has been used in ‘a’

, Gerund has been used in b’
3 Gerund has been used both in ‘a’ and b’

4 Gerund has not been used in either ‘a’ or ‘b’
Question Number : 48 Question Id : 750782395

What type of clause is the underlined part of the following sentence ?

“Mary had a little lamb whose fur was white and fluffy.”
Options :

. Adverb clause

, Noun clause

\ Adjective clause

, None of the above

Question Number : 49 Question Id : 750782396



Choose the incorrectly spelt word/words from the following.
a. Rendezvous

b. Connossieur
c. Diarhoea
d. Dysentery

Options :

~aand b only
, b and c only

c and d only

, d only

Question Number : 50 Question Id : 750782397

Choose the option to fill in the blanks in all the following sentences.
a. All glitters is not gold.

b. Anything
c. Everything

Options :

. Which, That, That

you give me is acceptable.

he mentioned was true.

, That, Which, That
3 That, That, That

\ That, That, Which

Question Number : 51 Question Id : 750782398

I had scarcely taken orders a year, before I began to think seriously of matrimony.

The underlined clause in the above sentence is
Options :

1 Noun clause

, Adjective clause



, Adverb clause of time

. Adverb clause of condition

Question Number : 52 Question Id : 750782399

Identify incorrect sentence/s.

a. Once when published, your novel will be reviewed.
b. While in Delhi, I visited all the leading educationists.

c. Where there was a temple, we found an absolutely new building.
Options :

_aonly
2bandconly
.a and c only

4a,bandc

Question Number : 53 Question Id : 750782400

Read the sentence carefully :

“Even if you had reached on time, you could not have boarded the overcrowded bus.”

What type of conjunction is ‘Even if * in the sentence ?
Options :

1 Co-ordinating conjunction
, Sub-ordinating conjunction
, Correlating conjunction

. Compound conjunction

Question Number : 54 Question Id : 750782401

Choose the best equivalent sentence to the following sentence.
It would be best if you told everyone.

Options :



. The best thing was for you to tell everyone
, For you to tell everyone, it would be the best thing always

3 The best thing would be for you to tell everyone

,. The best thing is for you to tell everyone
Question Number : 55 Question Id : 750782402

Identify the type of mood in the given sentence from the given options.
“Give us this Day our daily bread.”

Options :

. Indicative Mood

, Subjunctive Mood

, Imperative Mood

,. None of the above

Question Number : 56 Question Id : 750782403

Fill in the blanks.

a. If we send a telegram today, we a reply in two days.
b. If he me, I should marry him.

c. If you had come earlier, you certain of your berth.
Options :

. Shall get, Asked, Would have
5. Shall get, Will ask, Would have been

3 Shall getting, Asked, Would have been

4 Shall get, Asked, Would have been

Question Number : 57 Question Id : 750782404

Read the following sentence. “Travelling by metro is better than travelling by bus.”

Identify the kind of sentence from the given options.
Options :



Affirmative
_ Positive
_ Comparative

) Assertive

Question Number : 58 Question Id : 750782405

He said, “Let’s not say anything about it till we hear the facts”.

Change the above sentence into indirect speech and identify the incorrect sentence/
sentences from the following options.

a. He suggested not saying anything about it till they heard the facts.
b. He suggested saying nothing about it till they heard the facts.

c. He suggested that they should not say anything about it till they heard the
facts.

d. He suggested that they should not say anything about it till they hear the facts.
Options :

Only a
_Onlyb

_Onlyd
Only c and d

Question Number : 59 Question Id : 750782406

Fill in the blank with appropriate preposition.

You must abide the terms of this agreement.
Options :

By

1.



_With
At

3.

For

4.

Question Number : 60 Question Id : 750782407

Fill in the blanks.

a. Give me books.

b. go by train must leave now.

c. My father, works in a bank, is now on a holiday.
Options :

L Them, Those who, Who
, Those, Those who, That
. Those, Those who, Who

4. Those, Them who, Who

Question Number : 61 Question Id : 750782408

Choose the correct sentence/s.

a. I have visited England last August.

b. I am here since 1951.

c. He hasn’t written to you for a week.
Options :
~aonly
_conly

3 b and c only



4a,]cof—mdc

Question Number : 62 Question Id : 750782409

What type of punctuation is ; in the given sentence ?

“He was an epitome of honesty, efficiency, sincerity, perseverance; and we all respected

»

him.
Options :

;18 semicolon

LB 1s colon

1s hyphen

3.

, +1s coma with full stop

Question Number : 63 Question Id : 750782410

‘If such were the case, I would not approve it.’

Identify the mood expressed in the above sentence and choose the correct option from
the following :

Options :
| to express a purpose
, toexpress wish or desire

, toexpress doubt or supposition

, to express imagination or improbable condition with its consequence

Question Number : 64 Question Id : 750782411

May God help you !

The mood 1n this sentence is
Options :

. Subjunctive

_ Imperative



) Indicative

None of these
4.
Question Number : 65 Question Id : 750782412

Identify the word wrongly used in the following sentence.
One student only came in late yesterday.

Options :

one

1.

,only

, 1N

) came

Question Number : 66 Question Id : 750782413

Read these sentences.
a. The boy kicks the football.
b. The boy laughs loudly.

Identify the types of verb in the sentences from the following options.
Options :
a. contains intransitive verb

. b. contains transitive verb

a. contains transitive verb

, b. contains intransitive verb

a. contains reflexive verb

b. contains inexpressive verb

a. contains inexpressive verb

4 b. contains reflexive verb

Question Number : 67 Question Id : 750782414



Which expression/s is/are correctly written ?

a. Too many cooks spoil the broth.
b. Bury the hatch.

c. Disappear into thick air.

Options :

_aonly
,aand b only

3 b and c only

4a,bandc

Question Number : 68 Question Id : 750782415

See the two verbs carefully.
a. “Walk”

b. “Ring”

Now, find out the correct answer about their types from the given options.
Options :

. ais regular verb, b is irregular
, 8 1s irregular verb, b is regular
X both a and b are regular verbs

A both a and b are irregular verbs
Question Number : 69 Question Id : 750782416

‘I ran in a marathon last week but I wasn’t fit enough. I

after 15 kilometres.’
Choose the correct phrase from the following to fill in the blank.

Options :

,move 1n

, turn up



_drop out

, clear up

Question Number : 70 Question Id : 750782417

Fill in the blank with correct verb choosing the one from answer options.

*

“According to the present market rate twelve dozen one hundred rupees.’
Options :

1 costs

X have cost
. cost

) 1S cost

Question Number : 71 Question Id : 750782418

Point out the incorrect sentence.
Options :

X A madman sometimes is completely oblivious of the past events

5 A guilty person inflicts many tortures upon himself and suffers long

, Being a pivotal figure in the Army, many titles were bestowed at him

. A seedling and an amoeba differ from each other in many respects

Question Number : 72 Question Id : 750782419

Fill in the blank.

She showed great courage danger.

Options :

1 to the face of



_on the face of

at the face of
) in the face of

Question Number : 73 Question Id : 750782420

Choose from the answer option correct form of verb for the blank space in the following

sentence :

“She made the boy the whole work.”

Options :

do

1.

‘todo

2

_are doing

to be doing

4

Question Number : 74 Question Id : 750782421

‘Up the wall’ means

Options :

1 not enough space to live

furious or crazy
2.

3 disappear

N be frank and honest

Question Number : 75 Question Id : 750782422



Give the meaning of the idiom ‘Spick and Span’.
Options :

_ very neat and trim

, to intoxicate

, to cause a quarrel

, the secret cause of grief

Question Numbers : (76 to 80)

Direction‘: Q. No. 76 to 80:
Read the passage and answer the questions given below :

People often ask Mark Inglis if he can be any height he wishes. In reply he says,
“Yes, I am very short when I am climbing mountains and tall otherwise”. At any
given time, though, this cheerful Kiwi is two centimetres shorter than he used to be
till that perilous November in 1982. A heavy blizzard at New Zealand’s Mt. Cook,
where he was a 23-year-old search and rescue mountaineer, relegated Inglis to an
ice cave for 13 days. Following his rescue, a major media event, both his legs had to

be amputated knee-down because of severe frostbite.

Today, almost 30 years later, as the first double amputee to have reached the
summit of Mt. Everest, the second double amputee to scale Mt. Cho Oyu and
perhaps the only double amputee to wear three-quarter pants all the time, this
51-year-old mountaineer has a lot to tell people about life. “I don’t tell them I am
disabled. Disability is a state of mind. I say I'm a double amputee,” says the jolly
Kiwi, who is in the city to deliver a series of motivational lectures to corporates,
schools and whosoever is willing to borrow inspiration from his survival story.



Seated at the Taj lobby — where he feels people are showing a cultured nonchalance
towards this strange foreigner in three-quarter pants who keeps adjusting his
prosthetic legs — Inglis beams when he recalls how it all began with rugby. “I was
really bad at rugby in school, and in 1970s New Zealand if you were bad at the
game, what else could you do but climb ?” he laughs. Initiated into mountaineering
by his teacher, Bert, he soon became a professional search and rescue mountaineer,
who, like every other adventure-seeker in his country, saw Mt. Everest as a
stepping stone to success. But that dream had to wait for over 25 years, thanks to
the terrible blizzard of 1982.

Inglis was stuck in an ice cave with fellow mountaineer Philip Doole — with five
cookies between them, the duo survived on half a biscuit a day for the first five
days. “At minus 20 degrees in that altitude, the human body tends to burn as many
calories as a racing cyclist,” says Inglis, whose weight dropped from 70 kg to 39 kg.
“The maximum someone had lasted in our situation was nine days. We spent most
of our time praying for relief.” It came on the seventh day in the form of a helicopter
which dropped food, sleeping bags, a primus and a radio. On the thirteenth day,

they were rescued. “But the worst was seeing my legs rot later,” Inglis says.

Question Number : 76 Question Id : 750782424

Choose the correct option from the following :
a. Mark was the first double amputee to climb Mt. Cho Oyu.

b. Mark was the first double amputee to have reached Mt. Cho Oyu as well as
Everest.

c. Mark was the second double amputee to climb Mt. Cho Oyu.

d. Mark was certainly the only double amputee to wear three-quarter pants all the

time.
Options :

a and d only
_ b and conly

_conly

4 d only



Question Number : 77 Question Id : 750782425

The word ‘Nonchalance’ means
Options :

. Inspiration
_Indignation

3 Incidence

Indifference

Question Number : 78 Question Id : 750782426

Mark Inglis developed an interest in mountaineering because

Options :

. He used mountaineering as a means of livelihood

, He was inspired by his teacher, Bert
, His dream was to deliver lectures to corporates and schools

, He used mountaineering as a metaphor for life

Question Number : 79 Question Id : 750782427

Mark 1s now 2 cm shorter than he was, because

Options :

. He was stuck in an ice cave for 13 days

The prosthetic legs fitted after his amputation were slightly shorter than his

, real ones

; He and his friends spent most of their time praying for relief when in an ice cave

N He was born disabled person



Question Number : 80 Question Id : 750782428

‘Disability is a state of mind’ means

Options :

. Mind and body are equally important

, Physical fitness can overcome mind
, Mind can make the body obey its commands

. A person can be happy if the body is healthy



